

## Hamburg Township Public Safety Department

PO BOX 157 · HAMBURG, MICHIGAN 48139 PHONE: (810) 231-9391 · FAX: (810) 231-9401 EMAIL: <u>HATP@hamburg.mi.us</u> RICHARD DUFFANY, DIRECTOR OF PUBLIC SAFETY



- **TO:** Hamburg Township Board
- FROM: Chief Richard Duffany
- **DATE:** June 25, 2025
- RE: Agenda Item Topic: Purchase of Police Radios General Ledger #: 206-000.000-980.000

Number of Supporting Documents: 1

NEW/OLD BUSINESS: XXX New Business

\_ Old Business – Previous Agenda #:

## **Requested Board Action**

• Motion to approve the purchase of two (2) Kenwood VP8000BKF2 portable radios and two (2) Kenwood VM5930BF in-car mobile radios, with accessories, as outlined in the attached quote from Digicom Global, Inc of Troy, MI for a total cost of \$13,800.88.

## **Background Information**

As part of the department's long-term capital equipment plan, the department is scheduled to replace two (2) portable and two (2) in-car mobile radios for police personnel this fiscal year. The radios being replaced have reached their end of life cycle and can no longer be updated. Public Safety command officers, both police and fire, have made the determination to continue purchasing Kenwood portable radios as the replacement radios as the have proven reliable and cost approximately 30% less than comparable radios from other manufacturers. The Kenwood radios are available at MiDeal state contract pricing through Digicom Global, Inc of Troy, MI which is a single source vendor for the radios.

## **Budget Impact**

This purchase is included in the approved FY 25/26 budget.

Respectfully,

Real Duff

Chief Richard Duffany Director of Public Safety

## 675 East Big Beaver Suite 105 Troy, Mi. 48083

# **Estimate**

Date	Estimate #
6/19/2025	5728

#### Name / Address

Hamburg Police Dept Attn:DC Darius Nisenbaum 10409 Merrill Road P.O. Box 157 Whitmore Lake, MI. 48139

### Ship To

Hamburg TWP Police Dept Attn: Dariusz Nisenbaum 10409 Merrill Rd. Whitmore Lake, Mi 48189

		F	Project
Description	Qty	Rate	Total
DC Darius Nisenbaum			
VP8000BKF2 -3-31-25 AES & -300 SPECIAL THROUGH 3-31-2025. Multi band portable radio. FREQUENCY BAND OPTIONS SOLD SEPARATELY. Includes Black Housing, Standard Key Pad and 3 watt speaker, Multi key DES and ARC 4 encryption, WIFI, bluetooth, 1024 channels & 3 year warranty.	2 2	1,664.00	3,328.00
State Contract \$1964 - \$300 = \$1664 PDR 5107928 VIK 8323000004 AES Multi Key4 DES-OFB and AES256 (includes Multikey) FIPS140-2 encryption module includes DES if requested ON EFJ ORDER CENTER. Note for VP5000 must purchase KWD-AE30K AES Encryption Module	2	448.00	896.00
832VP8000-7800 VP8000 700/800 MHz frequency band option	2	572.00	1,144.00
VIK 8322000002 License key for P25 conventional for	2	332.00	664.00
VP-6000/7000/8000 series. Kit price given field price \$480. VIK 8322000005 License key for P25 Phase 1 trunking for VP-6000/7000/8000 series EFJ 8322000005 Kit or Field price	2	116.00	232.00
KRA-32K 700 800 MHz antenna	2	34.00	68.00
KNB-L3M Li-ion 3400 mAh (High Capacity) battery. Smart	2	174.96	349.92
Battery		77.04	155 (0
KSC-32 CHARGER (RAPID) for VP line and NX 5000 KMC-70M Mil Spec IP67 (Immersion) Intrinsically safe speaker	2	77.84 126.64	155.68 253.28
mic with Active Noise Reduction,3 programmable buttons (One is	2	120.04	235.28
emergency) and 3.5 mm audio jack VIK 2990600013 EFJ 2 year extended warranty	2	164.00	328.00
Radio Programming Fee - Portables, Base, Dash, Single head Remote, Dual Head remote, ECT	2	15.00	30.00
Contact:Debbie Bey 586-899-4241 dbey@digicomglobal911.com with que concerns Thank you.	estions or Su	Ibtotal	
	Sa	Sales Tax (6.0%)	
Phone #	Т	otal	

## 675 East Big Beaver Suite 105 Troy, Mi. 48083

# **Estimate**

Date	Estimate #
6/19/2025	5728

#### Name / Address

Hamburg Police Dept Attn:DC Darius Nisenbaum 10409 Merrill Road P.O. Box 157 Whitmore Lake, MI. 48139

### Ship To

Hamburg TWP Police Dept Attn: Dariusz Nisenbaum 10409 Merrill Rd. Whitmore Lake, Mi 48189

			Project
Description	Qty	Rate	Total
MPSCS Customer will pay the \$250.00 per radio one time programming fee directly to the state. This is good for the life of the radio.	2	0.00	0.00
MiDeal Pricing per EFJ / Kenwood Michigan State Contract # 21000000896 or (21*896). This State Contract Number must be listed somewhere on the PO.	2	0.00	0.00
Shipping	1	25.00	25.00
ENCRYPT SAVE Extended to 7-31-25 Encryption Promo: Purchase by 7-31-25 and receive \$300 off per radios when purchased with AES 256 Multi key and select package. PDR 5107928	2	0.00	0.00
VP8000 Black Single Band Portable Radio -3-31-25 SP special with above items SUBTOTAL			7,473.88
VM5930BF -3-31-25 AES & -300 SPECIAL THROUGH 3-31-2025 Viking Mobile Deck Only 700/800, 762-806MHz, 806-870MHz, Transflective Color Display, 35 watts, 1024 Channels, 255 Zones, IP 54/55 & Mil Spec C/D/E/F/G. 3 Year Warranty. Includes P25 Conventional and Phase1 Trunking. State	2	1,740.00	3,480.00
Contract \$2040 - \$300 = \$1740.00. PDR 5107928 VIK 8323000004 AES Multi Key4 DES-OFB and AES256 (includes Multikey) FIPS140-2 encryption module includes DES if requested ON EFJ ORDER CENTER. Note for VP5000 must	2	448.00	896.00
purchase KWD-AE30K AES Encryption Module VIK 2990600013 EFJ 2 year extended warranty	2	164.00	328.00
Contact:Debbie Bey 586-899-4241 dbey@digicomglobal911.com with concerns Thank you.	juestions or	Subtotal	
		Sales Tax (6.0%)	
Phone #		Total	

## 675 East Big Beaver Suite 105 Troy, Mi. 48083

# **Estimate**

Date	Estimate #
6/19/2025	5728

#### Name / Address

Hamburg Police Dept Attn:DC Darius Nisenbaum 10409 Merrill Road P.O. Box 157 Whitmore Lake, MI. 48139

### Ship To

Hamburg TWP Police Dept Attn: Dariusz Nisenbaum 10409 Merrill Rd. Whitmore Lake, Mi 48189

			Project
Description	Qty	Rate	Total
KCH-19VM SCD Basic Control Panel for dash mount. EFJ line.	2	174.96	349.92
KCT-71M2 (17ft) Remote Control Cable.	2	68.40	136.80
KMC-65M standard palm microphone for a base or mobile	2	50.80	101.60
KRK-14HV KCH-19 Rear Panel EFJ model	2	154.40	308.80
KCT-23M3 DC Cable (35-50W Remote Mount; pos. 23ft, neg 3.3ft leads)	2	52.56	105.12
KMB-33M: Standard mounting brackets	2	13.76	27.52
KRK-17BF Remote Kit FOR A VM7000 deck	2	136.00	272.00
VIK 597539077901 USB Micro A-B Cable. USB Micro Type B male To USB Micor Type B female extension cable.	2	0.00	0.00
KCT-46 Ignition sense cable (plugs directly into mobile chassis ignition sense line).	2	13.36	26.72
KES-5A External speaker 12-15 Watt Output. 9 ft lead 5" x 5" x 2-9/16"	2	58.40	116.80
KAP-2 Home Alert / P.A. Relay Option	2	61.36	122.72
Radio Programming Fee - Portables, Base, Dash, Single head Remote, Dual Head remote, ECT	2	15.00	30.00
MPSCS Customer will pay the \$250.00 per radio one time programming fee directly to the state. This is good for the life of the radio.	2	0.00	0.00
MiDeal Pricing per EFJ / Kenwood Michigan State Contract # 210000000896 or (21*896). This State Contract Number must be listed somewhere on the PO.		0.00	0.00
Shipping	1	25.00	25.00
Contact:Debbie Bey 586-899-4241 dbey@digicomglobal911.com with qu concerns Thank you.	estions or	Subtotal	
		Sales Tax (6.0%)	
Phone #		Total	

586-899-4241

## 675 East Big Beaver Suite 105 Troy, Mi. 48083

# **Estimate**

Date	Estimate #
6/19/2025	5728

#### Name / Address

Hamburg Police Dept Attn:DC Darius Nisenbaum 10409 Merrill Road P.O. Box 157 Whitmore Lake, MI. 48139

Ship To	
Hamburg TWP Police Dept Attn: Dariusz Nisenbaum 10409 Merrill Rd. Whitmore Lake, Mi 48189	

		-	Project
Description	Qty	Rate	Total
ENCRYPT SAVE Extended to 7-31-25 Encryption - OTAR Promo: Purchase by 7-31-25 and receive \$300 off per radios when purchased with AES 256 Multi key and select package. PDR 5107928 VM5930 SHR -3-31-25 SP special with above items SUBTOTAL		0.00	0.00
Contact:Debbie Bey 586-899-4241 dbey@digicomglobal911.com with q	uestions or	Subtotal	\$13,800.8
		Sales Tax (6.0%)	\$0.0
Phone #		Total	\$13,800.8

586-899-4241